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CLASS - IV
SUBJECT - GK
BRAIN TEASERS - 5

Add the number of chess pieces at the start of

a game to the number of arms on an octopus

and subtract the number of years in two and a

half decades. What is the answer?

A gardener dug a hole 2 meters wide, 3 metres
long and 1 metre deep. How many handfuls of
sl prethere inithe Iole? cuuouvssimmanss
Which is longer: 4)% feet or 54 inches? ..........c.cccovvnnnnn.

If you multiply any number by 200, all you have to do to get the
correct answerisadd .................o.oeeee. and double

What are the next two letters in this ZIVIR N
series?

Complete each series:

g 28, 125, 625 iviun
b. A,CF 135 BBE2A6 GIKT91] ...ocommoreeescmmmesms
g

CLASS - IV
SUBJECT - G.K
BRAIN TEASERS - 5

Add the number of chess pieces at the start of
a game to the number of arms on an octopus
and subtract the number of years in two and a
half decades. What is the answer?

A gardener dug a hole 2 meters wide, 3 metres
long and 1 metre deep. How many handfuls of
soil are there inthe hole? ........................oee ..
Which is longer: 4% feet or 54 inches? .........coovvuevenn....

If you multiply any number by 200, all you have to do to get the
COIrect ansWerIS atd . .coswmemmmesanmas and double

What are the next two letters in this series?

Complete each series:

a. 25, 125, 625, .......

b. A,CE135 B,DF,24,6 GLK.7911 ..ooovirinnirnerarnes
c:



Obul
White 2

Obul
White 2

Obul
White 2

Obul
White 2


